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B & 4 E'%;é; 'Fﬁﬁfa\(i)o)ﬂﬁﬁﬁ jj(:ifn%é R 4 ﬁﬁﬂfé\;‘f(ﬁ;ﬂz '(.%;a)& 7‘3&3&5—5 & 4 E'%;'f J:ﬁﬁ“mx(a)a)tt% ﬁ&ﬁié & 4 J:ﬁﬁ“mx(a)a)tt% '(.%;a)k jj&ﬁié
’ 100kN/mM#%#8 % % -l -~ - -|3mZEiBZ 3 -~ - - —-| 100kN/m%#8 %% - -~ - -|3m%iB 2% -~ - - -
s 1.00]0.00 ~ 6.67 84.25| =h L4 |0.00 ~ 0.00| 1.57 8.42 zHns 1.00] 500 ~ 9.00 84.25| =h L4t | 500 ~ 9.00f 157 8.42
9 100kN/mM#%#8 2 % 1.00{0.00 ~ 1.30 119.70| 3mZE#EZ D -~ - - —-| 100kN/m%#8 %% 1.00] 11.25 ~ 16.70 119.70| 3mZEHEZ D -~ - - -
s 1.00]1.30 ~ 9.09 100.00f Z#h 4t | 0.00 ~ 9.09] 2.20 11.75 s 1.00] 500 ~ 11.25 100.00f Zh 4t | 5.00 ~ 16.70f 2.20 11.75
3 100kN/mM#%#8 2 % 1.00{0.00 ~ 0.73 110.86| 3mZE#EZ D -~ - - —-| 100kN/m%#8 %% 1.00] 11.92 ~ 15.00 110.86| 3mZEZ D -~ - - -
s 1.00/0.73 ~ 8.51 100.00f =h st |0.00 ~ 851 2.14 11.45 s 1.00] 500 ~ 11.92 100.00f Zh 4t | 500 ~ 1500 2.14 11.45
4 100kN/mM#%#8 2 % 1.00]0.00 ~ 207 131.97|3mZEEZ D -~ - - —-| 100kN/m%#8 %% 1.00] 1214 ~ 31.20 131.97|3mZEEZ D -~ - - -
s 1.00]2.07 ~ 9.85 100.00f Z=hli4t+ |0.00 ~ 9.85| 2.83 15.12 s 1.00] 500 ~ 12.14 100.00f Zh 4t | 5.00 ~ 31.20f 2.83 15.12
5 100kN/mM%#8 2 % 1.00]0.00 ~ 2.65 141.79| 3mZEEZ D -~ - - —-| 100kN/m%#8 %% 1.00] 11.36 ~ 38.22 141.79| 3mZEHEZ D -~ - - -
s 1.00]2.65 ~ 1044 100.00f Z=h st | 0.00 ~ 1044 2.90 15.54 s 1.00] 500 ~ 11.36 100.00f Zh 4t | 5.00 ~ 38.22 2.90 15.54
6 100kN/mM%#8 2 % 1.00|0.00 ~ 286 145.22| 3mZE#EZ D -~ - - —-| 100kN/m%#8 %% 1.00] 11.01 ~ 35.82 145.22| 3mZEEZ D -~ - - -
s 1.00]2.86 ~ 10.64 100.00f Z=hist | 0.00 ~ 10.64| 2.96 15.82 s 1.00] 500 ~ 11.01 100.00f Zh 4t | 5.00 ~ 3582 2.96 15.82
7 100kN/mM%#8 2 % 1.00|0.00 ~ 1.78 127.29|3m%*#BZx 5% -~ - - —| 100kN/mM%#8 % % 1.00] 11.53 ~ 21.33 127.29|3m%*x#BZx 5% -~ - - -
s 1.00]1.78 ~ 9.56 100.00f Zh st |0.00 ~ 9.56| 247 13.23 zHnLs 1.00] 500 ~ 11.53 100.00f Zh st | 5.00 ~ 21.33| 247 13.23
8 100kN/m#%#8 2 % 1.00/0.00 ~ 1.81 127.75|3m%x#B 25 -~ - - —| 100kN/mM%#B % % 1.00] 1221 ~ 25.73 127.75|3m%*x#B 25 -~ - - -
s 1.00]1.81 ~ 959 100.00f Z=hllst |0.00 ~ 9.59| 2.72 14.58 s 1.00] 500 ~ 1221 100.00f Zh st | 5.00 ~ 2573 2.72 14.58
100kN/mM#%#8 2 % ~ ImEHBZRD ~ 100kN/M%HBZ 5 ~ ImEHBZD ~
zh st ~ Zh st ~ Zh st ~ zh Lot ~
100kN/mM#%#8 2 % ~ ImEHBZD ~ 100kN/M%HBZ 5 ~ ImEHBZD ~
zh st ~ Zh st ~ Zh st ~ zh st ~
100kN/mM#%#8 2 % ~ ImEHBZD ~ 100kN/M%EHBZ 5 ~ ImEHBZD ~
Zh st ~ Zh st ~ Zh st ~ zhLst ~
100kN/mM%#8 % % ~ ImERBZRD ~ 100kN/M%HBZ 5 ~ ImEHBZD ~
zh st ~ zh st ~ Zh st ~ zh st ~
100kN/m#%#8 2 % ~ ImEHBZRD ~ 100kN/M%HBZ 5 ~ ImEHBZD ~
zh st ~ zh st ~ Zh st ~ Zzhst ~
100kN/m#%#8 2 % ~ ImEHBZRD ~ 100kN/M%EHBZ 5 ~ ImEHBZD ~
zh st ~ Zh st ~ zh st ~ ZThst ~
100kN/M%#8 2 % ~ ImEHBZRD ~ 100kN/M%HBZ 5 ~ ImEHBZD ~
zh st ~ Zh st ~ Zh st ~ ZThst ~
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